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( ) M 533 [kg]
Fu 5.2 [KN] Kyx Mx G
Fv 2.6 [kN] Kyx Mx G
H 2170 [mm]
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hg 1185 [mm]
dg 207 [mm]
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Q 1.7 [kN] Fu/n
Ros 10.6 [kN] {Fyx hg (Mx G Fy)x dg} (dx nt)
Rie 14.6 [kN] {Fyx hg (Mx G Fy)x dg} (dx nt)
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ft 176 [N/mm?]
ot 131.9 [N/mm?] ot ft Ry /A
2)
fs 101 [N/mm?]
1 21.7 [N/mm?] T fs Q/A
3)
fts 212 [N/mm?] fts ft fts'=ft 1.4ft-1.61
fts' 176 [N/mm’]
ot 131.9 [N/mm?] gt fts'
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Ly 8 [cm] 80[mm] ( ) Lb
Fc 1.8 [kN/cm?] 18[MPa]
p 0.010 [-] p=1/6x Min(Fc/30 0.05+Fc/100)
Ta 12.0 [kN] Ta=6mt Ly p ( Ta 12.0[kN])
Ta 12.0 [kN]
Rps 10.6 [kN] Ry, Ta
Ta Rbl
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